Ay T TS5

HHTEr e 1@
7—I\— RARE
o 4 & = e o = ~ 'J L 5
& & L (@mm) '1(‘mn{)b (@mm) (mm) I(Emilf]%
e 608131 65 M10x1.5 0.35 20 12,500
oNe N A—RY
AF—=IL
608151 65 M10x1.5 0.5 20 12,500
608331 65 M10x1.5 0.35 20 12,500
ATVLA
AF—IL
608351 65 M10x1.5 0.5 20 12,500
613142 75 M10x1.5 0.2 23 12,500
INH—RY
AF—=I)L
613162 75 M10x1.5 23 12,500

+» o ' m—
ANNIW-TSY
e 118
7—I\— BRALE

o aH ' = J14Y—& | NULER P

I 622131 |, . | 100 M10x1.5 0.35 22 12,500 13
; » 622151 | AF—l 100 M10x1.5 05 22 12,500 13
622331 | __., - 100 M10x1.5 035 22 12,500 13

622351 | AF N 100 M10x1.5 05 22 12,500 13

. 512161 |, o | 100 M10x1.5 0.3 20 12,500 10
3 512162 | A7~ 100 M10x1.5 0.3 20 12,500 20
512342 | z:v12 100 M10x1.5 0.2 20 12,500 20

512362 | 7V 100 M10x1.5 0.3 20 12,500 20

~ g ' m—
JR-TSY
(EEEfE )
o 2 E IS5VE hUAE

m B " # (mm) (mm) (mm) (mm)

IVYTRIAT 462291 ZF—) 265 140 25 03

m 462391 2FVL A 265 140 25 0.3

462591 = 265 140 25 0.3

M7

—IKVZAF=Ib

FZAR— AvTITSVICEDNTND/\AH—
ERZLCHIT X TLOTRE - FIRAND P —ZRALTEDET.
(#13&#1250keg/mm?)

ATFIVARF=Ib
BHEDRATYUVAAET HUBVECRISE ATY
DSNTA P —ZRALTVET,

IRYRAF—IUIE R KL

99



